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(33" NaCN

Y ufieu § Fefae At 1 e
o wftafda a1 sran @ 2

(1) NaNO, (2) NaNO,

(4) Na;N

uﬁmﬁnmmmmaﬁi
IJyHEHASH  &F & 3l Fe
SATRITeRTuT STFEAT S T2 7

(1) THT+2 T Y

(2) THT +3 3rEEYT H

(3) +3 3 +2

(4) +2 3T +3

g Yerd & el YT Uehlgiaieh
faera # %2 dg 3qEA FeCl 3o ®
Fretr, &, et 31aT S T 3 BT
fore w1 Sufeafy wqafar 2 7

(1) Uemigifers  (2) fAifers

(3) Uediarse (4) #em
fr=fafaa § 9 1 11 yrafys wfiE 55
wiie TE 2 ?

(1) hiiserudiE giiegur

(2) STUSITR glien

(3) ATEZH 3Rt TiEw

(4) Hifersr gdiego

frafafea 4 1 =17 @ ameEw & fav
wEAE 2 7

(1) GHIEHO] GHIEHT] TR IehHvi 2 |
(2) HHITRI T AV Wil &
T =1 3 L 2 |

T 4 GEEag @i 6 4 &
g ey HI AT |

(4) FHIZA0 F4Y H] U G HE R |

5
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R et s s e ot

th

(3) Regression stands 10 measure |

w57 Gorrelated variables- e
(4). Regression is an absolute meas e

-

In Lassaigne’s test the nitrogen of
organic compound is converted into

(1) NaNO, (2) NaNoO,

(3) NaCN (4) Na)N

What is tHe oxidation state-—-ofFe
outside the coordination sphere and
within  the coordination sphere
respectively in Prussian blue ?

(1) both in +2 state

(2) both in +3 state

(3) +3 and +2

(4) +2 and +3

To the aqueous or alcoholic solution of
original substance, adding few drops
of neutral FeCl; gives a blue, green,

red or violet colour indicates the
presence of which group ?

(1) Alcoholic (2) Phenolic

(3) Aldehyde (4) Ketone

Which of the following is not a test of g
primary amines ? '
(1) Carbylamine test
(2)
(3) Nitrous acid test
(4) Molisch test

Diazotisation test

Which of the following is incorrect for
Regression ?

(1) Regression equations are mutuall -_
o

© Teversible.
@) Regl‘essmn cocﬂmentb md:ca

average relationship between g

=

.-.1_ 2

" !

-4 of relationship- 1,5
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S A # ufeafa fafafaa § 3
e wy dTh Wm0

(1) K,Cr,0,

(2) KMnO,

(3) Pb(CH,CO0),

(4) Na,[Fe(CN),NO]

fr=ferfigd 3 & =M PbC/, % |1 wliam
T Hhe, 7T AT R 7

(1) KI (2) dil. H,S0,
(3) K,Cro, (4) T o

frafafas 4 4 =9 die smifEw
Hewse d faog 781 2 2

(1) As (2) Cu

(3) Sb (4) Sn

i Y St % fore sifoess gaesfia
fafa g

(1) greifeia fafy

(2) ggrse fafy

(3) e fafy

(4) weer fafer

NO,” 33 % qdiager # 4 {1 1 Fe7,
faeferfiga oo depet % o & = 2t
87

(1) [Fe(H,0),(NO)]SO,

(2) [Fe(1,0),]S0,

(3) [Fe(H,0),S0,]

(4) [Fe(NO,),]SO,

Presence of S~ jon gives violet colour

with which of the following ?
(1) K,Cr,0,

(2) KMnO,

(3) Pb(CH,CO0),

(4) Na,[Fe(CN),NO]

Treatment of PbC/, with which of the
following gives white precipitate ?
(1) KI (2) dil. H,SO,

(3) K,CrO, (4) All of these

Which of the following is not soluble

in yellow ammonium sulphide ?
(1) As (2) Cu
(3) Sb (4) Sn

The most sensitive method for the

monitoring of ammonia is
(1) Indophenol method
(2) Nitrite method

(3) Nessler method

(4) Direct method

Brown ring is due to formation of
which of the following complex in the
test for NO; ™ ion.

(1) [Fe(H,0),(NO)ISO,

(2) [Fe(H,0),]S0O,

(3) [Fe(H,0).80,]

(4) [Fe(NO,),]SO,
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CO% 1= % (10 ppm & %) ) firg
fafer gro st & wrr <7 g 2 0
(1) IR

(2) T HIEIITE

HPLC
uv

(3)
(4)

Tfefiaa H 8w W faga grade

ferfepror < for w7 2 2

(1) 32 S H1 Ueh UHR 2 5 3iafie &
ey & Ui B 2 |

(2) foga gmdn fafeo & 9w §
I & STavdehdal &l 2 |

Q) foga g fafpor 4 e
pf 2 |
ﬁqamﬁ&mwmanm
o7 T 78 &t |

S % q0Te % qiEdd & Wy B
2, 98 1 7T 2
(2) Taaqu

(4) geltentor

(1) HAYagda
(3) Wb

e el # CO =1 aq ita % fae

HAIE 3% a1 2
(1) NDIR (2) FTIR
(3) uv (4) NMR

11.

12.

14.

Low levels of CO (less than 10 ppm)
can be conveniently measured by

(1) IR
(2) Gas chromatography
(3) HPLC

(4) Uv

Which of the following is incorrect for
electro magnetic radiation ?
(1) It is a form of energy that is

transmitted through space.

(2) Electromagnetic radiation requires
medium for its transmission.
(3) Electromagnetic radiation have

dual nature,

of

radiation is

(4) Velocity clectromagnetic

independent  of

frequency.

The change in refractive index which

occurs  with  a  change in the

wavelength of transmitted light is

known as

(I) Refraction (2) Dispersion

(3) Scattering (4) Polarization

The  technique best  suited for
contmuous monitoring of CO from
exhaust emtssuon is
(1) NDIR

(3) uv

(2) FTIR
(4) NMR

0J
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Prfefaa A w2
D:C -~ CH=CH~CH;

|

CH;
(1) 242 nm (2) 237 nm

(3) 227 nm (4) 222 nm

Wi fieh THTES RCONH,

3400-3500 cm™! % == & ARG AUZ
wzfiia ®ta 2, P,0, 8 AfFHd #1d W
a4 arer Aifieh sraeifad Hem

(1) 3500 em™ 9T (2) 3250 cm™ '@
(3) 2256 cm™'T  (4) 1650 cm™' T

M-, 319~ 375 % m/e 1 T T 8
(1) 3o gz

(2) SATHE

(3) 3TfUaes HT=AT

(4) FFIEdH

frafafea @ @ #9 @ ESR @A
wefifd wm 2

(1) Na’ 2) Cu'

(3) NO (4) H,
frefafga & @ =89 @1 w01 gar ym
&1 yehififa T3 1 ammar gT snefiE 2 2
(1) Aherdied

(2) wfadifea

(3) T

(4) Icod T

16.

17.

19.
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<:>:C -~ CH=CH - CHj
(lfH_;

(1) 242 nm

(3) 227 nm

of following compound is

(2) 237 nm
(4) 222 nm

Primary amide RCONH, shows two
absorption bands between 3400-3500
em™', on treatment with P,0O;, the
compound formed absorbs at

(1) 3500cm™! (2) 3250 cm™!
(3) 2256cm™! (4) 1650 cm™

The m/e value of M', the molecular
ion gives

(1) Molecular formula

(2) Molecular weight

(3) Molecular structure

(4) Refractive index

Which of the following will show ESR

spectrum ?
(1) Na* (2) Cu”
(3) NO (4) H,

Which of the following is based upon
the ability of particles to scatter light ?

(1) Nephelometry
(2) Fluorescence
(3) Phosphorescence

(4) Emission spectra
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ToREt Ay fufreass gro oot W fuifa
<1 %1 wlasset widfsrn i war smar 2
(1) "rTerd fasrrar

(2) Tafrcarafies fasmma

(3) 3= THANY

(4) 3tfa geeasfiear

Je-famy i dwm % FER U
SN | R, 1 ufewifa feram simar 2

I b
() Ry, [R IJ

R 49 Yo A1 2 2

(1) HETfege I9t
2) ufHfeferga gat

(3) VAT g

(4) 3199 fafmy gy

UHifed s @1 pK den smifiEm
BIESIFATSE 1 pK, FHIT: 4.76 3T 4.75
2 | smifEm wHiee fadmm @1 pH @
BT 2
(1) 7
(3) 9.1

(2) 7.005
4) 0.01

%
i
!
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i
i
i
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20.

23.

An adverse reaction of any drug to a
patient prescribed by a qualified doctor
is called

(1) Idiosyncrasy Poisoning

(2) latrogenic Poisoning

(3) Hypertension

(4) Hypersensitivity

Smith and

According to Bate —

Westall in a chromatogram Ry, is

defined as

I
0 Ry=(z-1)
I "\
(2) RM=Iog(ﬁr+lJ
I
(3) I{:\_Tzlog(ﬁg—lj

|
4) Ry= (ﬁ”r IJ

%K

Which of the following papers is used
for cationic separation of protonated

amines and amino acids ?
(1) Carboxyl papers

(2)  Acetylated papers
(3) Alumina papers

(4) lon exchange papers

The pK, of acetic acid and pK, of
ammonium hydroxide are 4.76 and
4.75 respectively. What will be the pH
of the ammonium acetate solution ?
() 7
(3) 9.51

(2) 7.005
“) 0.01

0J
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For silica the correct eluting power of

solvents is
(1) Carbon tetrachloride > pure water
> ethanol > diethyl ether

(2) Diethyl ether > carbon
tetrachloride > ethanol > pure

waler
(3) pure water > ethanol > diethyl
ether > carbon tetrachloride

(4) pure water > carbon tetrachloride

> ethanol > diethylether

In column chromatography the peak
capacity (n) is related to the retention
volumes of the first and last peaks (V,

and V | respectively) and plate number
(N) as

N[ Vu
(I n=1 ~|6[[nVUJ

LN
(2) n—l+]6 n

:
VCI'.

N (, Ve
(3) n=l+l6[:"n\;(JJ

Nf Vo
(4) n=1 —]6(;’nvu)

Which of the following coating material
used in TLC is basic in nature ?

(1) Alumina
(2) Silica gel
(3) Kiesleguhr

(4) Cellulose powder
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frafafaa 4 8«9 @1 s s

HHEH g TEEH 61 R 2

(1) TEEHET (2) HCOOH

(3) H, (4) H,0
frafafaa 4 & =9 @ 59 dg@ =0
"o H iR Hifem 74 2 0

(1) e tfee

(2) ==

(3) uifeTufsret UATSE

(4) wifereersta

4A TR [Na, (AlO,),, (Si0,),] %
TR 7

(1) Co, (2) CHg

(3) HIEAGITE  (4) H,S

HPLC/GLC # waTg &1 & (U) 3 =e
A (H) ™ gay 2
Hz,fu-—E; +Ex Y

&l A, B 37 C sFasr: 8

(1) wegel faga, eonatia fagmo, s
ZEIHTH FATGL]

(2) IO ZEMH THT, Twiaty
fergar, ugdl fermu

(3) wgdt  famw, wm zemm
FYTATA, Aty faaroy

(4) 3= FEHE RH,  Ugdl

vicEl 4 Wga s fafr siem 1,
AT <hl GUFHTU &A1 Y B -

(1) Ca* >Na*>Th* > AP+

(2) Na™>Ca¥> AP*t> Th#

(3) Th**> AP~> Ca** > Na*

(4) Th* >Ca? > AP*>Na'

Elﬁ 0]
" Z:m

27.

28.

29,

30.

31.

Which among the following can be
detected by Flame ionisation detector ?

(1) Hydrocarbons (2) HCOOH
3) H, (4) H,0

Which of the following is not a
stabilising media in zone
electrophoresis ?

(1) Cellulose acetate

(2) Starch

(3) Polyacryl amide

(4) Polystyrene

Which of the following is not absorbed
by type 4A [Na,, (AlO,),, (810,),,]
sieves

(1) €O, (2) C.H,

(3) Cyclopropane (4) H,S

In HPLC/GLC the relationship
between the flow rate (U) and the plate
height (H) is

B

H=A tg tCxU

Where A, B and C are respectively

(1) Eddy diffusion, longitudinal
diffusion, non equilibrium mass
transfer.

(2) Non equilibrium mass transfer,
longitudinal  diffusion, Eddy
diffusion

(3) Eddy diffusion, non equilibrium
mass transfer, longitudinal diffusion

(4) Non equilibrium mass transfer, Eddy
diftusion, longitudinal diffusion

In ion exchange column used in
chromatographic  separation,  the
separation capacity among cations is
(1) Ca*>Na*>Thi* > AP

(2) Na'>Ca? > AP*>Th*

(3) Th*'> AP">Ca? > Na'

4) Th* >Ca® > AP*> Na'

0J
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g i
3. + Br CH,COOCH, 228 | 3, + Br CH,c00CH, 2214
(2) H,0* f e ) H,0°

H,SO Se// H,SO
2 4}B{_1)SL.;\C 4 l]Scféc
A 2) “:0 A (2) ['{20
Iutia AR 31geRe 1 3ae O 2

!
{
; The product ‘C" in the above reaction
'I_
|
i
1

CH,COOH

ee
; COOH
|
Jee ; “
|
E

A

CH,COO0CH,

H,COOCH,
@5 @@
(4] ii
o @
33. + CH,0 + H,N (CHy), | 33, + CH,0 + HN (CHs)s
HJC t H‘{C
0

EoE 0
_ EIOH E} frt € {
flire— E cl- Dgf v
T tffERaT H A R E ‘A’ in the above reaction is
i
() y,c” CHO | (1) u,c CHO
0 |
() pe” % “N(CH)), * (2) HJQ\N((H@)
0 |
i
(3) H\C‘/ CH,NH-CH,4 1 3) Hy CHoNH-CH;
_ 0 i
0 !

0J 9 o
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SRUAHAT wav § fiaia ug wilfes
U % |1 A il i fenfafy

(1) SCEgITHE Ao
(2) 3FIAEE gfaemE
(3) fHF=E FrTTensh
(4) ArfaerE gfaeem

>H;O0H
2 ,HS A + 2N,

2 H_ﬁ_so4
srfafsran | 3eqme cA 2

NH, OH
"@ @
C,H-

0 @-@u @

mmmmnm%
3N 3R FlEe & /1Y 3799
qT 3e1E 2

(1) ufselm

(2) STt

(3) S

(4) ®fe BregifFet

34.

3s.

qg’:ﬁ

37.

The mechanism of coupling reaction
of diazonium salt with phenol and
aromatic amine is

(1) Electorphilic addition

(2) Electrophilic substitution

(3) Nucleophilic addition

(4) Nucleophilic substitution

C,H.OH

2C H, N ,HSO, Wi o il 2N,
Cu powder *

+2H,50,

The product “A” in reaction is

NH, OH
nQ e ©
C,H,

" @00 ©

The main product of the reaction of
nitrobenzene in neutral solution with
zinc dust and ammonium chloride is

(1)

(2) Azoxybenzene

Aniline

(3) Azobenzene

(4) Phenyl hydroxylamine

KOII
—A
“HLO

LH
The above reaction is an appl;callon of
which of the following reaction ?
(1) Cannizzaro reaction
(2) Aldol condensation
(3) Perkin reaction
(4) Stobbe condensation

o]
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freafafas fem wbm =1 09
HIEZA UH-2-319 Ud B et 2 7
(1) urfig

2) -1

(3) 2-Aforerardig

(4) =223

CHEHOH 2 O
Beyp

H,0"

Iute Il swa d 2

(1) d~iigsh 3=

(2) WiTe vHTEs e

(3) e tfremmfig
(4) BFHH- 1, 6 — 2EHATF 37

frofafgs ofel 8§ 3 femd
it & foqu 3man 2 2

(1) "=ifceerss

(2) p-elepfeeerss

(3) p-TEgrE~ifeEETES

(4) UGN

w4 Ut demgs & 5@ st § aga
LECERItiD e i s Sk -l S oo
feran et 2 7@ =z Wfaefia o wfafda @
w11 2, 39 Il § g 2

(1) ==

(2) HfTe HTEYERA

(3) iAe SwreRuTa

(4) HE HeTh

40,

41.

Ozonolysis of which of the following

alkene  gives propan-2-one  and

methanol
(1)
(2)
(3)
(4)

Propene
But-1-ene
2-methylpropene
But-2-ene

HBr KCN

C,H,CH,0H > A »B

_8 oo

H30"

C in the above reaction sequence is
(1) Benzoic acid

(2) Phenyl ethanoic acid

(3) Phenyl ethylamine

(4) hexan- 1, 6 - dioic acid

Which

compounds

among  the  following

has highest order of

reactivity in nucleophilic addition
reaction ?

(1) Benzaldehyde

(2) p-tolualdehyde

(3) p-Nitrobenzaldehyde

(4) Acetophenone

When an arylhalide is treated with the
very strong basic amide ion in liquid
ammonia, it is converted into aniline.
The intermediate in the reaction is

(1) Benzyne

(2) Phenyl carbocation

(3) Phenyl carbanion

(4) Free radical
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40.

D (-) W& HNO, 8 31fafwar g 2ar
2

(1) T 37, IS 37

(2) "HifAR 317, grfaetd, Afreta
(3) "ol 37T, grfaeia, Afreie
(4) grEETsEifen it 3T, T

afc Ui 3 ¥ o faems §
aufadd fag & #9 pH w frgaum
yafed <l S de A st

(1) HYTE I a0 feenfia g |

(2) UATE 1 avs fawenfq S |

(3) fereenfya = & |

(4) FrFafya g s |

TR W18 T Jeretor &

(1) s4fem

(2) ATETE

(3) fotfen

(4) AT, A 91 WH § 3ufeE O

58 F o v Y- 319t
(1) “igerg (2) T
(3) ™ (4) gehiy
frfafiaa 1 4 w9 a1 teeiiverg ER-,

(2) D-3ifearg
(4) D-SEAE

(1) D-UzErg

(3) D-uftyerE

42.

43.

46.

D (-) Fructose on reaction with HNO,
gives

(1) Glucaric acid and Gluconic acid

(2) Gluconic acid, Sorbitol and
Mannitol
(3) Glucaric acid, Sorbitol and

Mannitol
(4) Trihydroxy glutaric acid, Tartaric
acid and Glycollic acid

[f'an electric current is passed through
the aqueous solution of amino acid at a
pH lower than isoelectric point, then
the amino acid will

(1) Migrate towards cathode

(2) Migrate towards anode

(3) Not migrate

(4) Form precipitate

An example of globular protein is

(1) Insulin

(2) Myosin

(3) Keratin

(4) Protein present in hair, wool and
silk

Which one of the following is a non-

reducing sugar ?

(1) Lactose (2) Maltose

(3) Glucose (4) Sucrose
Which of the following is not an
aldopentose ?
(1) D-Ribose (2) D-Arabinose
(3) D-Erythrulose (4) D-Xylose
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Which structure of protein is related to
specific sequence of amino acids ?

(1) Primary structure

(2) Secondary structure

(3) Tertiary structure

(4) Quarternary structure

Which of the following is an indole
alkaloid ?

(1) Nicotine (2) Gramine

(3) Quinine (4) Morphine

The difference between saponification
value and acid value of fat is known as
(1) lodine value

(2) Acetyl value

(3) Ester value

(4) Reichert Meissl value

Which of the following identifies

methoxy group in an alkaloid ?
(1) On heating with HI
(2) Reaction with acetic anhydride

(3) Liberation of CO, with NaHCO,

(4) Reaction with nitrous acid

The method widely used to determine

molar masses of proteins, polymers

and macromolecules

(1) Osmotic pressure

(2) Elevation of boiling point

(3) Relative lowering of vapour
pressure

(4) Depression of freezing point
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52.

The amount of light stopped or
scattered by a suspension is measured

in which of the following ?
(1) Potentiometry

(2) Turbidimetry

(3) X-ray spectroscopy

(4) Conductimetry

Which  of  the following s
indeterminate error ?

(1) Instrumental error

(2) Accidental error

(3) Operative error

(4) Errors of the method

The repeatability of a result is known
as :

(h) Accuracy

(2) Precision

(3) Error

(4) Absolute error

The absolute error expressed as a
percentage of the true value is known
as

(1) Average deviation

(2) Standard deviation

(3) Relative error

(4) Accuracy

Which of the following is not an
electrochemical method of"analysis ?
() Coulometry
(2) Nephelometry
(3) Amperometry
(4) Polarography
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The value about which all the other
values are equally distributed is called
(1) mode
(3) mean

(2) median

(4) accurate value

The square of standard deviation is
called

(1) t-test

(2) chi-square test

(3) Variance

(4) Q-test

Which of the following statement is
incorrect for viscosity ?

(1) Greater the viscosity more slowly
the liquid flows

Hydrogen bonding and Vander
Waals forces are strong enough to
cause high viscosity.

Viscosity of liquid decreases as
the temperature decreases.

(2)

4)

Viscosity of liquid decrcases as

the temperature rises.

Which of the following is correct
formula for paired t-test ?

(where D = mean of all the individual
differences,

N = number of observations

o = standard deviation

X = mean, X, = value of
individual observations:
D
n 1=—;\)N
D
@) t=—~N
c
{-.j l
(3) t= sz( N-
"
(4) 1=——GT1\)N
[u]
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o
Preservative used for preserving
visceras  during  post  mortem

examination for chemical analysis
(1) Benzene

(2) Saturated solution of sodium

chloride
(3) Ether

(4) Acctone

Which of the following is not a
preparation of cannabis indica ?

(1) Bhang (2) Ganja
(3) Charas (4) Heroin
Which poison has the most rapid fatal
action among the following ?

(1) Alcohol
(2) Heroin
(3) Hydrogen cyanide (HCN)
(4) Dhatura

Which method of solvent extraction is
used in the isolation of following
poison from visceral organs ?

(h
(2) Cyanide
(3) Barbiturates
(4) Ketones

Alcohols

Poison which can be detected even
after death from burnt bones is

(1) Dhatura

(2) Opium

(3) Arsenic

(4) Cocaine
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All of the following are household
emetics except -

(1) Chilli powder

(2) Mustard powder

(3) Warm water

(4) Common salt solution

Kerosene like smell is found in the
stomach contents in poisoning by

(1) Carbolic acid

(2) Yellow phosphorus

(3) Hydrocyanic acid

(4) Organophosphorus compound

Which one of the following is not a
constituent of universal antidote ?

(1)
(2)
(3)
(4)

Activated charcoal
Potassium permanganate
Tannic acid

Magnesium oxide

Perforation of stomach is seen in
poisoning due to

(1) Sulphuric acid
Carbolic acid
Acetic acid

4

Acetyl salicylic acid

The action of a poison is most rapid
when it is
(1) inhaled

(2) intramuscular injection
(3) applied to a skin surface

(4) ingested by mouth
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Salicylic acid will be detected in the

biological fluids and viscera in case of

poisoning due to
(1) Asperin (2) Diazepam

(3) Benzoic acid (4) Meprobamate

Which poison is found in tobacco and

tobacco products ?

(1) Nicotine (2) Morphine

(3) Opium (4) Marijuana

Juice of which plants frujt is used for

malingering by producing artificial

bruise ?

(1) Ricinus communis

(2) Semecarpus anacardium (marking
nut)

(3) Capsicum annum

(4) Croton tiglium

Alithrine is following type of pesticide :

(1) Organochloro

(2) Organophosphrous
(3) Pyrethorid

(4) Carbamate

Stomach wash can be done during
treatment in poisoning due to

(1) Sulphuric acid

(2) Nitric acid

(3) Hydrochloric acid

(4) None of these
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Reinsch test is used for identification
of which of the following poison ?

(1) Cannabis

(2) Opium

(3) Ethyl alcohol

(4) Mercury

Toxalbumen is found in
(N
(2)
(3)
4)

Ricinus communis
Semecarpus anacardium
Calotropis gigantea

Nerium odorum

Which poison is used as a cattle poison ?
(1) Abrus precatorius

(2) Semecarpus anacardium

(3) Capsicum annum

(4) Cannabis indica

Chromotropic acid test is used for
testing which of the following poison ?
(1) Carbon dioxide

(2) Chloroform

(3) Methanol

(4) Ethanol

Garlic like odour is present in breath
and excreta in poisoning by

(1) Carbolic acid

(2) Phosphide

(3) Lead

(4) Cyanide
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The atropine is used as antidote in
which one of the following poisoning ?
(1) Organophosphorus compounds

(2)  Aluminium phosphide

(3) Croton Tiglium

(4) Oleander

Which one among the following is not
a mechanical poison ?

(1) Glass

(2) Diamond

(3) Hair

(4) Organophosphorus insecticide

The most potent preparation of the
cannabis indica is

(1) Bhang

(2) Charas

(3) Ganja

(4) Bhang Thandai

Impulses to kill (run amok) may be
seen under the influence of

(1) Dhatura
(3) Cannabis

(2) Cocaine

(4) Barbiturates
Strychnine and brucine alkaloids are
obtained from

(1) Nux Vomica

(2) Opium

(3) Cannabis

(4) Croton

Which of the following poisons is

excreted in sweat ?
(1) Opium (2) Ethyl alcohol

(3) Cyanide (4) Barbiturates
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The breath smells of bitter almonds is
found in poisoning by

(1) Arsenic

(2) Cyanide

(3) Dhatura

(4) Chloral hydrate

Pupils alternatively contract and dilate,

which is known as hippus, is
characteristic symptom of

(1) Arsenic poisoning

(2) Aconite poisoning

(3) Atropine poisoning

(4) Albinoria

Which one of the following is not a
cardiovascular poison ?
(2) Quinine

(4) Nux Vomica

(1) Aconite
(3) Tobacco

Preservation of urine for chemical

analysis is most useful in test of
poisoning by

(1) Organophosphorus compounds
(2) Alcohol
(3) Opium
(4) Cyanide

Lysergic acid diethylamide (LSD) falls
in the category of

(1) Hypnotic drug

(2) Stimulant drug

(3) Sedative drug

(4) Hallucinogen drug
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The blood under the skin and in the

tissues will be cherry — red in
poisoning with

(1) Hydrogen Sulphide

(2) Carbon Dioxide

(3) Carbon Monoxide

(4) Sulphur Dioxide

The antidote for methyl alcohol
poisoning is

(1) Atropine

(2) Potassium permanganate

(3) Ethyl alcohol

(4) Formaldehyde

Metabolic product of methyl alcohol,
in humans which is responsible for
poisoning, is

(1) Acetic acid

(2)
(3) Aldehyde
(4) Phenol

Formic acid

Which one of the following poisoning
resembles symptoms of viper snake
bite 7

(1) Ricinus communis

(2) Abrus precatorius

(3) Semecarpus anacardium

(4) Calotropis gigantea

(s]]

96.

93

s

ol




in the

d ip 96.
97.

|
98.
99.
100.

0l

T H B W H Ea fnafafea @ |
o e o ford e 2
(1) FATRIfers 3 |
(2) Emegfen i
(3) wrEEIgfen :
(4) wrETfers 370 fasrardtaon 1

s Sfad % fafafaa 38 g sme ¥ |
54T H B T 3 a1 I weAr
IqIRft B ?

(1) fe (i)

(2) 3mEfs

(3) wifezm ersgiamTse
(4) UEHeHH

1
T 9o Rt ey werpf o R |
& g4 2, % Irren vhem & A I |
9 3 B G w0 vg T TEERE |
e (FSL) % fom Freffea 8§ @ |
w1 a1 et e 2 2 !
(1) Bifeem FEs 1 tqm e |
(2) 10 wfawra el fyems |
(3) &wEs fafe i

|
!

(4) THR S0 A

97.

98.

Green colour of urine is characteristic
symptom of

()
(2)
3)
4)

oxalic acid poisoning
hematuria
chyluria

Carbolic acid poisoning

Hair examination is useful in a subject
suspected with poisoning of

(1) Cannabis

(2) Arsenic

(3) Sodium hydroxide

(4) Endosulphan

Heroin is obtained from

(1) Opium (2) Cannabis

(3) Dhatura (4) Cocaine

For extraction of drugs and alkaloids,
following method is most commonly
used

(1) Froth floatation process

(2) Electrolysis process

(3) Distillation method

(4) Stass Otto method

. A subject died of sulphuric acid

ingestion. While conducting post
mortem  examination  preservative
should be used for preserving visceras
for FSL — chemical analysis

(1) saturated solution of sodium
chloride
(2) formalin — 10% solution

rectified spirit
normal saline water

(3)
(4)
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